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	Section A ( 30 marks )

Questions 1 to 15 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided.

 

	1.
	Express 5 3/7 as a decimal correct to 2 decimal places.

(1) 5.27
(2) 5.28
(3) 5.29
(4) 55.28
	(        )



	2.
	7 l  77 ml   =   _________ cm3
(1) 7.770
(2) 7.077
(3) 7.707
(4) 7.007

	(         )

	3.
	5.55 ( 1000 = __________.

(1) 555
(2) 5.55

(3) 55.55
(4) 0.00555
	(          )

	4.


	Find the product of 74.006 and 74.

(1) 547.6444
(2) 5476.444
(3) 547.644
(4) 54.76444

	(          )


	5.
	
[image: image2.wmf]4

3

 of a sum of money is $750.  What is the original amount of money?

(1) $1000

(2) $800

(3) $750
(4) $900
	(           )


	6.
	The value of x is ________.

(1) 30(
(2) 20(
(3) 100(
(4) 150(
	(           )

	7.
	Erin spent 25% more than what Karen spent.

If Erin spent $250, how much lesser did Karen spend than Erin?

(1) $200
(2) $25
(3) $60

(4) $50


	(           )

	8.
	Bob’s weight is 
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 of Ben’s weight.  Ben’s height is 2
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 of John’s weight.  What fraction of John’s weight is Bob’s weight?

(1) 14/9
(2) 7/3
(3) 7/2
(4) 8/9

	(           )

	9.
	Find the unknown marked angles.










                    y



         



       
      115°








   


Angle y is _______.

(1) 115°

(2) 73°

(3) 42°

(4) 67°


	(           )

	10.


	Erin has $80. Alan has 3 times as much as Tom.  What is the average amount of money that they have?

(1) $40
(2) $50
(3) $45
(4) $30

	(           )


	11.
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The missing number in the box is ________.

(1) 7
(2) 6

(3) 8
(4) 10

	(           )

	12.
	A chocolate bar costs $5.70 and a candy bar cost 
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 as much.

Find the cost of 3 chocolate bars and 4 candy bars.

(1) $28.5
(2) $27.5
(3) $5.7
(4) $8.45

	(           )

	13.
	The bar graph below shows the number of Compact Discs produced by 5 workers in a month.  Study it carefully and answer the question below.
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Which pair of workers made more than 1200 discs each?

(1) Alex and Eric

(2) Brad and Damien

(3) Calvin and Eric

(4) Damien and Alex


	(           )


	14.
	 The average of 5 numbers is 10. The sum of 2 of the numbers is 30. What is the average of the other 2 numbers?

(1) 10
(2) 15
(3) 5
(4) 12

	(           )

	15.


	Which points would need to be joined to make an angle smaller than 90°


d

c
b
a

e
(1) a ( b ( c
(2) a( b ( d
(3) b ( c ( e
(4) b ( d( e

	(           )


	Section B ( 40 marks )

Questions 16 to 35 carry 2 marks each. For each question, write the answer on the space provided.



	16.
	If 50% of 2 hour has passed since 6.55p.m, what should be the time now?




	17.
	Find the angle x.



 E






                  x 















         



       



          40°








G

      F




	18.
	19 ( 25 = 22 + 53 + 75 +                    ( 25
What is the value in the box?

  



	19.
	How many cubes with side 5cm can be fitted into a box measuring 70cm by 65cm by 20cm.

	20.
	The volume of a cube is 512 cm3.find its base area.





	21.
	Express 276 m as a percentage of 3 km.



	22.
	A car traveled 240 km in 3 hours.  It traveled another 80 minutes at 90km/h. Find the average speed for the whole journey.






	23.
	Manu and his 4 friends sold 472 charity tickets.  Leo and her 6 friends sold 528 charity tickets.  What is the average number of tickets sold by each of them?



	24.
	A tower is 500cm long.  25% of the pole is painted white, 
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 of the pole is painted blue, and the remainder is unpainted. What is the length of the unpainted pole?





	25.
	Mrs. Jose used 
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of the flour to make a cookie and 
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 of the remaining flour to cook food. What fraction of the flour was left? 






	26.
	Find the average of this set of data.


4.29 cm      1.8 cm        4.9 cm       2.09 cm



	27.
	A baker sold 450 loaves of bread at $3 each.  With the money he received from the sale, he bought 50 bags of flour.

Find the cost of 1 bag of flour.




	28.
	If x = 5, find the value of  4x – 2x2.




	29.
	Erin bought a machine for $4300.  The deposit was $300, and he paid a monthly installment of $200 over 24 months.

How much interest did he pay after 2 years?




	30.
	I am 15 years old.  In 5 year’s time, my mother will be twice my age.  How old is my grandmother now?





	31.
	The product of 3 consecutive odd numbers is 693.  Find the smallest of these 3 numbers.




	32.
	The total cost of 6 pens is $24.  If I were to buy 2 more pens that cost $4. each, find the average cost of the 8 pens.




	33.
	Express 30 months as a percentage of 5 years.

	34.
	ABDE is a parallelogram and angle BDE is 55(.  BE is perpendicular to ABC, where ABC is a straight line.  Find the value of angle ABD.







	35.
	A play  show started at 3.25p.m.  The show is 110 minutes long. At what time did the show end?


	Section C ( 30 marks )

Questions 36 to 40 carry 6 marks each. For each of the following problem sum, show your work clearly in the space provided.



	36.
	When 2 identical marbles were placed in the water, the water level rose from 8cm to 12cm. Find the volume of each marble.(6 m)






















  12 cm










      30 cm





	37.
	A stall is selling grapes at $5 for 1.5kg and mangos at $2.80 for 1kg.   Freddy bought a total of 4.5 kg of grapes and 2.5kg of papayas.

(a) How much did Freddy spend altogether? (4 m)
  




	38.
	A farmer bought some packets of seeds. 
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of them were cabbage seeds, 
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 of the remainder was celery seeds and the rest were silver beet-seeds. There were 40 packets less silver beet-seeds than cabbage seeds.

(a) How many packets of cabbage seeds did he buy? (4 m)
(b) How many packets of seeds did he buy altogether? (2 m)



	39.
	Farmer Jonny had 360 chickens and ducks in all.  Out of the total number of animals, 30% were chickens.  He bought some more chickens until the number of chickens had increased to 50%.  

How many more chickens did he buy? (6 m)




	40.
	Margo and Jemy share a box of chocolates in the ratio 15: 8. After Margo ate away 3/5 of her chocolates, she had 30 chocolates less than Jemy.
a) Find the total number of chocolates in each box. (4 marks)
b) Find the percentage decrease in the number of Margo’s chocolates? (2 marks)
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Answer Key

	Q1
	3
	Q11
	1
	Q21
	9.2%
	Q31
	7
	Q39
	196

	Q2
	2
	Q12
	1
	Q22
	83.07km/h
	Q32
	$4
	Q40a
	15

	Q3
	4
	Q13
	3
	Q23
	100
	Q33
	50%
	Q40b
	60%

	Q4
	2 
	Q14
	1
	Q24
	125cm
	Q34
	125°
	
	

	Q5
	1
	Q15
	1
	Q25
	1/4
	Q35
	3:15pm
	
	

	Q6
	2
	Q16
	7:55pm
	Q26
	3.27
	Q36
	4800cm³
	
	

	Q7
	4
	Q17
	140°
	Q27
	$27
	Q37a
	$22
	
	

	Q8
	1
	Q18
	13
	Q28
	-30
	
	
	
	

	Q9
	3
	Q19
	728
	Q29
	$800
	Q38a
	120
	
	

	Q10
	1
	Q20
	64cm2
	Q30
	35 yrs old
	Q38b
	280
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